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Navn: Dato:___ Score:____
1,823 x 10 = 7,397 x 100000 =
10,236 x 10 = 8,206 x 1000 =
5,254 x 100000 = 3,536 x 1000000 =
8,423 x 100000 = 7,656 x 1000000 =
2,713 x 10000 = 2,555 %1000 =
10,789 x 100 = 4,032 x 10000 =
4,015 x 100000 = 2,562 x 10000 =
5,651 x 1000 = 4,379 x 100000 =
6,395 x 100 = 1,599 x 1000 =
8, 508 x 1000000 = 7,31 x 10000 =
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Multiplicér decimaler med ti

1,823 x 10 = 18.23

10,236 x 10 = 102.36

5,254 x 100000 = 525400

8,423 x 100000 = 842300

2,713 x 10000 = 27130

10,789 x 100 = 1078.9

4,015 x 100000 = 401500

5,651 x 1000 = 5651

6,395 x 100 = 639.5

8, 508 x 1000000 = 8508000

Dato: Score:

7,397 x 100000 = 739700

8,206 x 1000 = 8206

3, 536 x 1000000 = 3536000

7,656 x 1000000 = 7656000

2,555 x 1000 = 2555

4,032 x 10000 = 40320

2,562 x 10000 = 25620

4,379 x 100000 = 437900

1,599 x 1000 = 1599

7,31 x 10000 = 73100
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